CS3/586 Introduction to Databases – Fall 2009
Homework 6 Due Tuesday Dec 1 
1.[25] Consider the schema Bank( CustID, ClerkID, Time, DepositAmt, ClerkName).  A row in this schema means that a customer with the given ID  made a deposit to the clerk with the given ID and the given name in the given amount, at the given time.

Give an example of 2 out of 3: Update, insertion or deletion anomalies.

2. [25] Here is an instance of a relation.  Identify one possible key and one possible functional dependency in this relation.  The functional dependency must be non-key and non-trivial.


3. [25] Consider the schema R(A, B, C, D) with no primary key and the FDs BC(D, A(BC and D(A .  What are the keys?  Show how you determined each answer, for partial credit.
4. [25] Consider this schema:  MovieStudioPres(T, Y, S, P ) T is the title of a movie, Y is the year it was released, S is the studio that owns it, P is the president of the studio.  TY is the primary key and the FDs are S(P and T(S.  Decompose the schema into a BCNF schema.
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